auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

1 214

:JJ‘?H.:i
HPEVY B
R R R R R R O R R R KA KA R R S 2 o R R
s T}, o D\ T o 1P JO PO S P [ [ 0 R

BT N (o) as ol

Sl sl gy g
Gy AR e oyl

s m el e LGLL

[ “"lédh_ &'#hﬁuﬂ}‘@%}“@hﬁjjﬁ@ﬁjj,@jﬁjT ]

[ MWFo oF = ooloiat pole g ]

L L

A3 1T 1 2 e ity Do LI | PR e

e , __ i ]

R R KR RARARARS

oY gan Byl g Sl o dloiol Slge oyl gas

o ylads 5 | oglasti 31| Jliee aloms ploiel 3lge iy 5y
T 1 T [ geelfil) i g goged by | )
o 'R Y. rbdinals olaas i Y

F ¥ sl 9 5kl L
v el Y iy ,*,743} ¥

D18 oiio b yoi (a0l oy
i Gl Dl fodile 1 solasl %

@@@%@ﬂ@@@@@@ﬂ@ﬂ@@w

b gn Joky il phis ol Ly il s i o fppn UGS ol g s RN Lales il eagnil 135,051 o o g i B gt s g 187 iy B ﬁ

< K*"é: RARARAARARA A
Q

Gl ) il bt § 9 it 3] (guntbi JLS 90 3 Gls bl § Sl ! Gty



auid ) guibinit JbS 99 ) onndinl ikl bt § Gl g

Y dmiie 214F weloirl pgle jrgh

Hgwedl) et § ogok k)

[ PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
| mark the correct choice on your answer sheet.

1-  This evening's meeting is one in which important issues would be discussed; your
attendance is -—————---- .

1) obligatory 2) didactic 3) relevant 4) explicit

2-  After a long ------- -— between the former husband and wife over the custody of the child,
the court finally decided to grant the custody to the mother.
1) contradiction 2) cruelty 3) squabble 4) hesitation

3- In Australia, animals are reared on crop residue, Without the animals, these residues
would have to be —-———-=- by other means before another crop can be grown—often by
burning.
1) deprived of 2y disposed of 3) resorted to 4) alluded to

4-  Unable to ---———- the tyrannical rules and regulations at the hostel, young Vivian thought
of escaping in the dark of the night.
1) scold 2) acclaim 3) bear 4) treat

5-  Why do some animals, such as humans, ----—--- to sleep, whereas others, such as elephants
and giraffes, stand?
1) require 2) snore 3) setup 4) lie down

6-  With sixteen vietories in a row, the Australian ericket team was looking quite unassailable,
but they were finally ----—-- at the hands of the Indians.
1} dispersed 2) vangquished 3) confronted 4) disregarded

7-  The salesboy tried to persuade the old man te buy goods from him, but had to give up
when the old man told him ——-—------ that he would not buy anything from him.
1) arbitrarily 2) haphazardly 3) unequivocally  4) necessarily

5- But he had become —------—- to the rush and whirr of missiles, and now paid no heed
whatever to them.
1) inured 2) rendered 3) constrained 4 affirmed

9-  The judge openly associated with racist organizations; nevertheless, he showed no
--------- in his decisions during his career.

1) uniqueness 2) dexterity 3) gratitude 4) prejudice

10- 1 don't have any explanation for his -——----- behavior at last night's party, though I'm
sure that he is quite apologetic about it.
1) credible 2) resolute 3) distinct 4) bizarre

| PART B: Cloze Passage

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
| cach space. Then mark the correct choice on vour answer sheet.

Where do such creative sparks come from? How can we conjure them whenever we want?

And why can that be (11) --—--—---—-- anyway? A complete understanding isn’t here vet,
(12) -----——--- neuroscientists are already on the trail of (13) ---—------. They also have some
good news for each of us (14) -----—--- to ignite those inventive fires. As it turns out.
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(15) -=-------- our own muse may be easier than we think. especially if we learn to make a
habit of it.
11- 1) infernally difficult so to do 2) so infernally difficult to do
3) difficult infernally to do so 4) to do so infernally difficult
12- 1) in spite of 2) however 3) nonetheless 4) but
13- 1) where and how does creativity arise  2) creativity how and where it arises
3) where and how creativity arises 4) creativity does arise where and how
14- 1) who has ever struggled 2) struggled ever
3) have ever struggled 4) ever to struggle
15- 1) wetap 2) when we tap 3) and taps 4) tapping

PART C: Reading Comprehension:

Direciions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

mmet, Only 6 percent of
the population in developing countries are con nccu.d to telephones. f‘tlthough more than
94 percent of LS. houscholds have a telephone, only 56 percent have personal
computers at home and 30 percent have Internet access. The lack of what most of us
would consider a basic communications necessity—the telephone—does not occur just
in developing nations. On some Native American reservations only 60 percent of the
residents have a telephone. The move to wireless connections may eliminate the need
for telephone lines, but it does not remove the barrier to equipment costs.

Wheo has Internet access? The digital divide between the populations who have access
to the Internet and information technology tools and those who don't 1s based on income.
race, education, household type, and geographic location, but the gap between groups is
narrowing. Eighty-five percent of households with an income over $75.000 have
Internet access, compared with less than 20 percent of the households with incomes
under $15.000. Over B0 percent of college graduates use the Internet as compared with
40 percent of high school completers and 13 percent of high school dropouts. Seventy-
two percent of houscholds with two parents have Internet access: 40 percent of female.
single-parent households do. Differences are also found among households and families
from different racial and ethnic groups. Fifty-five percent of white households, 31
percent of black households, 32 percent of Latino households, 68 percent of Asian or
Pacific Islander houscholds, and 39 percent of American Indian, Eskimo. or Aleut
households have access to the Internet. The number of Internet users who are children
under nine years old and persons over fifty 1 has more than tripled since 1997,
Households in inner cities are less likely to have computers and Internet access than
those in urban and rural areas, but the differences are no more than 6 percent.
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16- Why does the author mention the telephone in paragraph 17
1) To demonstrate that even technology like the telephone is not available to all
2) To contrast the absence of telephone usage with that of Internet usage
3) To argue that basic telephone service is the first step to using the Internet
4) To describe the development of communications from telephone to Internet
17- Which of the sentences below best expresses the information in the underlined statement
in paragraph 1?7
1) The Internet is available to most of the people in the world, even though they don’t
have their own computers.
2) Most of the people in the world use the Internet now because the number of computers
has been increasing.
3) The number of computers that can make the Internet available to most of the people
in the world is not increasing fast enough.
4) The number of people who use computers and the Internet is increasing every year,
but most people in the world still do not have connection.
18-  The word “eliminate” in paragraph 1 is closest in meaning to —----—------ .
1) accept 2) define 3) remove 4) dispute
19- Based on the information in paragraph 2, which of the fellowing best explains the term
“digital divide™?
1) Segments of the population with Internet access
2) The disparity in the opportunity to use the Internet
3) The number of Internet users in developing nations
4) Differences in socioeconomic levels among Internet users
20- Why does the author give details about the percentages of Internet users in paragraph 27
1) To explain why many people have Internet connections now
2) To argue for more Internet connections at all levels of society
3) To prove that there are differences in opportunities among social groups
4) To suggest that improvements in Internet access are beginning to take place

PASSAGE 2:

One's style of dress reveals the human obsession with both novelty and tradition. People
use clothing to declare their membership in a particular social group: however. the rules
for what is acceptable dress for that group mav change. In affluent societies, this
changing of the rules is the driving force behind fashions. By keeping up with [ashions.
that is. by changing their clothing style frequently but simultaneously. members of a
group both satisfy their desire for novelty and obey the rules, thus demonstrating their
membership in the group.

There are some interesting variations regarding individual status. Some people,
particularly in the West, consider themselves of such high status that they do not need to
display it with their clothing. For example, many wealthy people in the entertainment
industry appear in very casual clothes. such as the worn jeans and work boots of a manual
laborer. However, it is likely that a subtle but important signal, such as an expensive
wristwatch will prevail over the message of the casual dress. Such an inverted status display
is most likely to occur where the person's high status is conveved in ways other than with
clothing, such as having a famous face.
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21-

22-

23-

24-

26-

What does the passage mainly discuss?

1) Human obsessions

2) Popular styles of dress

3) How designs come into fashion

4} What clothes a person wears say about them

According to the passage, fashions serve all of the following purposes EXCEPT

£

1) following traditional rules

2) satisfying an interest in novelty

3) signaling a change in personal beliefs

4) displaying membership in a social group

The word “their”™ in paragraph 1 refers to ------———-——--- :

1) members 2) rules 3) groups 4) fashions
Why does the author discuss individual status in paragraph 27

1) To argue that individuals need not obey ever fashion rule

2) To explain how high status may involve an inverted status display
3) To state that individual status is not important in the West

4} To contrast the status of entertainers with that of manual laborers
Why does the author mention a wristwatch in paragraph 27

1) To show that a wristwatch is an important fashion accessory

2) To explain why it is not necessary to dress entirely in one style

3) To give an example of an item that conveys one’s actual status

4) To recommend wearing an expensive wristwatch with casual clothes

PASSAGE 3:

French sociologist Emile Durkheim (1858-1917) believed the limits of human potential
are based socially. not biologically. He stressed that people are the product of their social
environment and that behavior cannot be understood fully in terms of individual
biological and psychological traits. In The Rules of Sociological Method (1964a/1895),
Durkheim set forth one of his most important contributions to sociology: the idea that
societies are built on social facts. Social facts are patterned ways of acting, thinking. and
feeling that exist outside any one individual but that exert social control over each
person. Durkheim was concerned with social order and social stability. He observed that
rapid social change and a more specialized division of labor produce strains in society.
These strains lead to a breakdown in traditional organization. values. and authority and
to a dramatic increase in anomie—a condition in which social control becomes
ineffective as a result of the loss of shared values and of a sense of purpose in society.
In Swicide (1964b/1897). Durkheim concluded that anomie suicide is most likely to
oceur during a period of rapid social change. whereas fatalistic suicide is more prevalent
when people see little hope of social change.

What is the author’s main purpose in the passage?

1) To argue against Durkheim’s ideas

2) To compare a sociologist’s viewpoints with those of another

3) To analyze human behavior form a sociological perspective

4) To explain a sociologist’s opinion about social influences on individuals
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27-  The word “traits” in line 4 is closest in meaning (0 ——---me-emmemv,
1) concepts 2) qualities 3) impacts 4)problems
28- According to Durkheim, all of the following could cause anomie in a society EXCEPT

i

1) sharing of values 2) lock of purpose
3) rapid social change 4) loss of authority and order
29- It can be inferred from the passage that to better understand behavior one needs to

1) pay attention to social facts
2) consider inborn qualities in individuals
3) analyze human behavior in time of social stability
4) minimize the impact of social control over individuals
30- The author has used all of the following methods of idea development in the passage

EXCEPT ==ceeccasnenans,
1) comparison 2) quotation
3) definition of terms 4) cause — effect relationships
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